
PIGK
AK5

ZZZ3
USP33

FAM73A
NEXN−AS1

NEXN
DNAJB4
DNAJB4
DNAJB4
DNAJB4

NEXN
DNAJB4
DNAJB4
DNAJB4
DNAJB4

FUBP1

GIPC2

GIPC2
GIPC2
GIPC2
GIPC2
GIPC2
GIPC2
GIPC2
GIPC2

MGC27382
PTGFR

IFI44L
IFI44

ELTD1

●

●●

●

●

●

●●●

●

●

●

●

●

●

●

●
●

●●

●

●
●●●●

●

●●●●●●●●●
●
●●● ●●●

●●●

●
●

●

●
●

●

●●●

●

●

●
●
●

●
●●
●●
●

●●

●
●●

●

●

●
●
●

●

●

●●

●●

●

●

●

●●
●

●

●

●

●

●
●●

●
●

●

●●

●

●
●●●

●

●●

●

●

●

●

●
●

●●

●

●●

●

●●
●
●●●

●●

●

●

●
●

●●

●

●

●●

●

●

●

●

●●●●

●

●

●

●●

●

●
●●

●
●

●

●●●●
●

●●●●
●
●
●●●●

●

●

●

●
●
●●
●●●●

●

●●●●●
●
●

●

●
●
●

●
●●●

●
●

●
●
●
●●●●
●

●●●●

●

●
●

●

●

●

●

●

●●

●●

●●

●

●●●

●

●●●
●

●

●

●●

●

●

●

●

●

●

●

●

●

●

●
●

●●
●●

●

●●●●●●●●

●

●●●●●●●

●●●

●

●
●

●

●
●

●
●●
●

●

●
●
●

●

●
●
●
●

●

●
●●●

●

●●●●●

●

●
●●
●
●●

●
●
●

●
●
●
● ●

●●●
●
●●●

●●●●
●

●●
●●●●

●●●●

●

●
●
●●
●
●●●

●

●●
●●

●

●
●●

●

●

●●

●●

●

●●
●
●●●

●

●

●

●

●●

●

●

●

●

●●●●●●
●●
●
●

●
●
●●

●

●

●●

●

●

●
●●●
●

●
●
●

●

●

●

●

●

●
●●

●●

●
●

●

●

●●●
●●●●

●

●

●

●

●

●●

●

●

●

●

●

●

●

●●
●●●

●

●

●●

●

●

●

●

●

●

●

●

●
●
●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●

●●
●

●

●

●

●●

●●

●

●

●
●
●

●

●

●

●

●

●

●

●
●

●●●

●

●

●

●
●

●

●

●

●●
●

●

●

●

●

●

●

●

●

●

●

●●
●

●

●

●●

●

●

●

●●●●
● ●

●
●●

●

●
●

●

●●●●●●●
●

●
●
●

●

●●

●●

●●

●

●●

●

●

●

●●

●
●
●

●

●

●

●

●
●
●

●
●● ●●●●●●●

●●●●
●
●●●

●

●

●●●
●●●●

●
●●●●●●●●●●●●●●●●●●●●●●●●●

●●●●●●●
●
●●●●●●●●●●●●●●●●●●●●●●●●●

●●●●●●●●●
●●●●●●●●●

●

●

●

●

●●
●

●

●
●

●

●

●

●

●

●
●

●

●
●●●●

●

●●

●
●

●

●●

●
●

●

●●●
●

●●

●

●

●●

●

●

●

●

●●
●●
●
●

●

●

●

●●●
●
●

●●
●
●●

●

●
●●

●

●

●

●
●
●

●●
●

●

●

●●
●
●

●

●●

●
●●

●
●
●
●●●●
●
●●●
●

●●
●●

●●
●●●●

●
●●

●
●●
●
●
●
●
●●

●
●●●
●
●●
●●

●●●
●●●●
●
●●●●●●●●●●●

●●
●●●●●●●●●●●●

●●●●●●●●●●●●●●●●

●

●●●●●●●●●

●

●●●

77.5 78.0 78.5 79.0 79.5

0

5

10

15

20

25

30

chr 1 physical position (MB)

−
lo

g1
0(

P
−

va
lu

e)

●

●
●

●

●

●

●
●●

●

●

●

●

●
●

●
●
●

●●

●
●

●●●●
●
●
●●●
●●●●

●
●
●●● ●●●

●●●

●

●
●
●
●

●

●●●

●
●

●

●●

●

●
●
●●●

●●

●●
●●●

●

●

●●

●

●●
●
●

●

●

●

●●
●
●●

●

●●
●●
●●

●

●●

●

●
●●
●

●

●●
●

●

●
●●
●●
●

●

●
●

●

●
●●●
●
●●●●

●

●●

●●

●

●

●

●

●

●

●

●●●

●●●

●

●●

●
●
●●

●
●
●

●
●●

●●

●
●

●

●●●
●●
●●
●
●

●

●●
●

●

●●●●

●●

●●
●
●
●

●

●

●
●
●
●

●

●●

●
●

●

●

●

●

●
●●●

●

●●
●
●

●

●
●

●

●

●

●

●

●
●

●●

●

●

●

●

●●

●

●

●

●●

●

●

●●

●

●

●

●

●

●

●

●

●

●

●●
●
●●
●
●●
●●●●

●
●●●●
●●●●●●●

●
●
●●
●
●

●

●

●

●●
●●

●

●

●

●●●

●

●

●

●●●
●
●

●●●
●
●

●●●

●

●
●
●

●

●

●

●

●

●

●
●
●
●●

●

●
●●●

●●●

●

●
●●
●
●

●●
●

●●●
●

●
●
●

●
●

●●

●

●
●

●●

●
●
●●●
●

●●●●●●●
●●
●●

●

●

●●●●●●●
●●●●●●●●

●
●●●
●
●●

●
●

●

●●
●●●●●

●
●●●●●●●

●

●

●●
●● ●●

●●
●●●●●●●

●
●

●●

●
●●●●

●●

●●
●
●●●●●

●●
●●
●

●

●●●●●●●●●●●●
●●●●●●●●●●●●●●●

●

●
●●●●●

●●
●

●●

●●

●

●

●

●

●●

●

●

●

●

●
●

●●
●●●

●

●

●

●●

●

●
●
●●●
●●

●●●

●
●
●

●

●●●●●
●
●●● ●●

●●●
●
● ●

●●
●●●

●●
●●●

●
●
●●●

●

●
●●

●●

●●
●●
●●●

●

●
●

●●

●

●

●

●●
●

●

●
●
●

●
●
● ●●●●●●●

●●●●●●●●●
●
●●●●●

●
●
●
●●●●●●●

●
●●●●●●●●●●●

●●●●●●●●●●●
●●

●

●●●●●●●●●●
●●●
●
●●
●●
●●●●
●
●●
●
●●●
●
●●●●

●
●
●●●●●●●●

●●

●

●●

●
●

●

●●

●

●●●●
●

●

●●

●●

●

●

●●

●

●

●●●

●●

●

●
●

●
●●●

●

●●

●

●
●

●

●

●
●
●●●●

●

●
●

●●●

●
●
●●
●
●●
●
●●●

●●●●●●●●●
●

●

●●

●

●
●
●●●●

●
●
●
●

●

●
●●●
●

●

●

●
●●

●

●

●

●●●●●●●●

●

●●●●●●
●●

●●●●●●

●
●●●●●●●

●

●

●

●●●●●●●●
●●●

●●●

●●
●●●
●●

●
●
●●
●
●●●●

●●
●

●
●
●●●

●●
●
●

●
●
●
●

●●●
●
●

●

●●●


